In the name of God 
Exercise3 
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Sorry… I don't know the answer.
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32.  (n—10)!, 5log(10n + 1)°, 22" 0.0001n* 4+ 2n3 + 1, In’n, In
no 2 ¥ < 0.0001n* +2n3 + 1 < 220




image6.jpg
34.  List the following functions according to their order of growth from the
lowest to the highest:

log(log*n)  2le9™m (\/i)logn n? n!  (logn )!
(%)n n3 log>n  (logn!) 22" p!/losn

Inlnn log™n n2" ploglogn Inn 1
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37. Considering the following functions, which choice is the correct?

9e 9s 94 93 g2 91
2+/2logn n 2n nlogn ~ n2tlogn log™*(nm)

1. g1 <92<93<94<95<9s

2. 96 <95 <93<g1<g2<g4
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40. Considering the following functions, which of the following relationships
shows the order of growth of these functions?

fi(n) = n® log® n

fo(n) = n® log® v/n

f3 (n) — 4(logn+lg logn)

2. f2< fi<f3
3. i<fe< [f3
4. fi=fo=f3
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149. f(n) = logn, g(n) = loglog(n?)
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150. f(n) = n’/logn, g(n) = n(log n)*

3 =® g€e0(f)
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151. f(n) = (logn)'®®, g(n) = n'®"
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152. f(n) = nlogn2, gn) = (logn)'*®"
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155. 2logn + 4n + 3nlogn
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156. 24+4+4+6+4+...4+2n
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159. V10n?2+4+ T+ 3
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161. (n2+1)1©




image23.jpg
162. 2nlog(n + 2)2 + (n + 2)2log%
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173. Find functions f, g, h, and t that apply in the following relationships.
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175.  Find functions f and g that apply in the following relationships.

0< f(n) < f(n+1), 0<gn)<gn+1)

f(n) #0(g(n)),  g(n) #O(f(n))
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227. 317 logi?
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228. Y™, (i+41)2i-!
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28. O(logn), O(y/m), O(n!), O(a"), O(n)
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30. O(1+e)" , O(nlog n) , O(52=)

2

n
O(nlogn) <0 <
logn

>< o(1+e&)"

31. (log n)ls m, 101;—211* av2logn . /n,  /log(n!)

2

n
Jlogn! < 2v2loen < nyn <
logn

< lognlogn




image4.emf

